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• ke = âhe Ùee  pe eBÛe  k eâ j  ue W efke â F me  Øe Mve -he $e  ce W c e ge fõle  he =‰ 16 leL e e            
Øe Mve  20 nQ~ 
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

20 questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s k eâes[ vecy ej le L e e mesš  ke âe s Úe$e  
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙe  
e fue Ke W~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : C 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 

Don’t leave blank page / pages in your answer-

book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 

Candidates must write their Roll Number on the 

question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

  Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

mee ceevÙe  efveoxMe : 

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  

 (ii) Ø e lÙe ske â  Øe Mve  k es â efve Oe e &efj le  De b ke â Gme ke sâ  me e ce ve s efoS  ieS  nQ~  



 ( 3 ) 3011/ (Set : C) 

3011/ (Set : C)  P. T. O. 

 (iii) ØeMve mebKÙee 1 ke âe s iÙ eejn (i-xi ) Jemlegefve‰  heÇMveeW cebs yeeBše ieÙee 

nw~ ØelÙeskeâ  ØeMve 1 De b ke â k e âe  nw~  Øe Mve (i) me s (vi) lekeâ 

yengefJekeâuheerÙe ØeMve nQ~ ØelÙeskeâ ØeMve kesâ efueS efoÙes ieÙes Ûeej efJekeâuhee W 

ceW mes Skeâ  mener efJekeâuhe Ûegvevee nw~ peyeefkeâ  ØeMve  (vii) mes (xi) 

lekeâ mener  Ùe e  ieuel e Øe k eâ ej  ke sâ Ø e Mve  nQ~  

 (iv) Ø e Mve  me b KÙ e e  2 me s 9 le k e â  De e fle -ue Ie tòe je lc e ke â Øe Mve  nQ~  e fpe ve ceW 

Ø e lÙe ske â  Øe Mve   2  De b ke âe W ke âe  nw~ Øe lÙe sk eâ  k e âe  Gòe j  mee ce e vÙe le : 30 

Me yoe W me s Dee fOe ke â ve ne R ne svee  Ûe e efnS ~ 

 (v) Ø e Mve  me b KÙe e  10 me s 17 le keâ  ue I etòej e lce ke â  Ø e Mve  nQ e fpe ve ce b s mes 

Ø e lÙe ske â  Øe Mv e  4 DebkeâeW ke âe  nw~ Øe l Ùe ske â ke âe  G òe j  mee c ee vÙe le : 60 

Me yoe W me s Dee fOe ke â ve ne R ne svee  Ûe e efnS ~ 

 (vi) Ø e Mve  me b KÙe e 18 mes 20 l e ke â oe rI e& Gòe j e lce ke â  Øe Mv e  nQ , e fpe ve ceW 

Ø e lÙe ske â  Øe Mve  7 De b k eâ e W ke âe  nw~ Øe lÙe ske â k eâ e  Gòe j  me e ce e vÙe le : 130 

Me yoe W me s Dee fOe ke â ve ne R ne svee  Ûe e efnS ~ 

 (vii) me Ye e r oe rIe & G òe je l ce k e â  Øe Mvee W ce W Dee v lee fj ke â  Útš Ghe ue yOe  nw~ S smes 

Ø e Mve e W ceW me s De e he ke âe s k es âJe ue  S keâ  ne r Øe Mve  ke âj ve e  nw~ 

 (viii) Me yo-me e rce e  me t$e e W , me b KÙe e lce ke â  le L e e  jsKe ee fÛe $e  Je e ue s Øe Mve eW he j  ue e iet 

v e ne R nw~ 
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General Instructions :  

 (i) All questions are compulsory. 

 (ii) Marks for questions are indicated against 

each. 

 (iii) Question No. 1 is divided into eleven (i-xi) 

objective type questions. Each question 

carries 1 mark. From questions (i) to (vi) are 

multiple choice type questions. One correct 

option has to be chosen out of four options in 

each question. While question (vii) to (xi) are 

of True and False type questions. 

 (iv) Question Nos. 2 to 9 are very short answer 

type questions carrying 2 marks each. 

Answer to these should normally not exceed 

30 words each. 

 (v) Question Nos. 10 to 17 are short answer 

type questions carrying 4 marks each. 

Answer to these should normally not exceed 

60 words each. 
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 (vi) Question Nos. 18 to 20 are long answer  

type questions carrying 7 marks each. 

Answer to these should normally not exceed 

130 words each. 

 (vii) Internal choice is available in all long 

answer type questions. You have to attempt 

only one of the given choice. 

 (viii) Word limit is not applicable to formulae, 

numericals and diagrammatical questions. 

[ Jemlegefve<" ØeMve ] 

[ Objective Type Questions ] 

       mener  efJekeâuheeW keâe ÛegveeJe keâerefpeS : 

 Choose the correct alternatives : 

  1. (i) efJeMJe ceneceboer keâe Je<e& nw :   1 

  (A) 1927 

  (B) 1929 

  (C) 1931 

  (D) 1933 
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   The year of World's Great Depression is :  

  (A) 1927 

  (B) 1929 

  (C) 1931 

  (D) 1933 

 (ii) efvecve ceW mes keâewve-mee DeeÙe kesâ Ûe›eâerÙe ØeJeen keâe #ejCe 
(Leakage) nw ? 1 

  (A)  heâceeX Éeje efueS ieS $e+Ce 

  (B)  meeJe&peefvekeâ JÙeÙe 

  (C)  efveJesMe 

  (D) heefjJeejeW Éeje keâer ieF& yeÛeleW  

  Which  of the following is leakage from the 

circular flow of income ?  

  (A) Loans taken by firms 

  (B) Public expenditure 

  (C) Investment  

  (D) Household savings  
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 (iii) efvecve ceW mes efkeâmes je°êrÙe DeeÙe ceW Meeefceue vene R efkeâÙee      

peeSiee ?   1 

  (A)  Iejsuet mesJeeÙeW 

  (B)  ceOÙeJeleea JemlegÙeW 

  (C)  nmleeblejCe DeeÙe 

  (D) Ghejeskeäle meYeer  

  Which of the following is not included in 

National income ?  

  (A) Domestic services  

  (B) Intermediate goods  

  (C) Transfer income 

  (D) All of the above  

 (iv) efvecveefueefKele ceW mes cegõe keâe ieewCe keâeÙe& keâewve-mee veneR  nw ? 1 

  (A) mLeefiele YegieleeveeW keâe ceeve  

  (B)  cetuÙe keâe ceeheoC[  

  (C)  cetuÙe keâe mebÛeÙe 

  (D) cetuÙe keâe nmleeblejCe  
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  Which of the following is not the secondary 

function of money ?  

  (A) Standard of deferred payments 

  (B) Measure of value  
  (C) Store of value  

  (D) Transfer of value   

 (v) efvecveefueefKele ceW mes mener met$e ÛegefveS :   1 

  (A) 
Y

C
APC

∆

∆
=  

  (B) 
Y

C
MPC =  

  (C) 
APS

K
−

=
1

1
  

  (D) 
MPS

K
1

=  

  Which one of the following is correct 

formula ?  

  (A) 
Y

C
APC

∆

∆
=  

  (B) 
Y

C
MPC =  

  (C) 
APS

K
−

=
1

1
  

  (D) 
MPS

K
1

=  
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 (vi) mheâereflekeâ Deblejeue efvecveefueefKele ceW mes efkeâmekeâe ceehe nw ? 1 

   (A)  vÙetve ceeBie 

  (B) efveJesMe ØeJe=efòe 

  (C) DeefOeceeBie 

  (D) yeÛele ØeJe=efòe  

  Inflationary Gap measures which of the 
following ? 

  (A) Deficient demand  

  (B) Propensity to invest  

  (C) Excess demand  

  (D) Propensity to save  

 

e fve cve e fuee fKe l e  ke âLe ve  me ner nwb  Ùe e  ieuel e ye l ee F S  : 

State whether the following statements are true          

or false :  

 (vii) vÙetve ceeBie keâer efmLeefle ceW mejkeâej keâes Ieešs kesâ yepeš keâer veerefle veneR 
Deheveeveer ÛeeefnS~ 1 

  In case of deficit demand, government 

should not adopt policy of deficit demand.  
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 (viii) ØeeLeefcekeâ Ieeše = jepekeâes<eerÙe Ieeše – yÙeepe keâe Yegieleeve 1 

  Primary deficit = Fiscal deficit – Payments 

of interest  

 (ix) mesJee keâj DeØelÙe#e keâj nw~   1 

  Service tax is an indirect tax.  

 (x) efJeefveceÙe oj efJeosMeer keâjWmeer keâer Iejsuet keâjWmeer kesâ ™he cesb                

keâercele nw~   1 

  Exchange rate is the price of foreign 

currency in terms of domestic currency.  

 (xi) Yegieleeve meblegueve ceW Demeblegueve kesâ keâejCe meeceeefpekeâ Yeer nwb~ 1 

  The causes of disequilibrium in balance of 

payments are social also.   

[ DeefleueIeg GòejerÙe ØeMve ] 

[ Very Short Answer Type Questions ] 

  2. Ûeeuet hegve:mLeeheve ueeiele efkeâmes keânles nQ ? 2 

 What is current replacement cost ?  
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  3. yebo DeLe&JÙeJemLee mes Deehekeâe keäÙee DeefYeØeeÙe nw ? 2 

  What is closed economy ?  

  4. ‘keâejkeâ Yegieleeve’ keäÙee nesles nQ ? GoenjCe oerefpeS~ 2 

 What are 'factor payments' ? Give examples.  

  5. Debeflece JÙeÙe keâe keäÙee DeLe& nw ? 2 

  What is meant by final expenditure ?  

  6. kesâvõerÙe yeQkeâ keâer heefjYee<ee oerefpeS~ 2 

 Define a Central Bank.  

  7. DeeflehetCe& jespeieej meblegueve mes keäÙee DeefYeØeeÙe nw ? 2 

 What is meant by overfull employment 

equilibrium ?  

  8. keâj keâer heefjYee<ee oerefpeS~ 2 

 Define tax.  

  9. JÙeeheej Mes<e ceWs 5,000 keâjesÌ[ ®heÙes keâe Ieeše nw Deewj DeeÙeeleeW keâe 
cetuÙe 9,000 keâjesÌ[ ®heÙes nw~ efveÙee&le keâe cetuÙe efkeâlevee nw ? 2 

 Balance of trade shows a deficit of Rs. 5,000 

crore and the value of imports are Rs. 9,000 

crore. What is the value of Exports ?  
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[ ueIeg GòejerÙe ØeMve ] 

[ Short Answer Type Questions ] 

10. keâejkeâ ueeiele hej je°̂erÙe Glheeo leLee yeepeej keâercele hej je°^erÙe Glheeo 
ceW Deblej keâerefpeS~ 4 

 Distinguish between National product at factor 

cost and National product at market price.  

11. Debeflece  GheYeesie JÙeÙe kesâ cegKÙe DebieeW keâe JeCe&ve keâjW~ 4 

 Describe the main components of final 

consumption expenditure.  

12. Skeâ DeLe&JÙeJemLee ceW DeeoMe& cegõe hetefle& efkeâmes keânles nQ ? 4 

 What is ideal money supply in an Economy  ? 

13. efvecve leeefuekeâe keâes hetje keâerefpeS : 4 

DeeÙe keâe mlej 

®0 

GheYeesie JÙeÙe 

®0 

meerceevle GheYeesie 
ØeJe=efòe 

meerceevle yeÛele 
ØeJe=efòe 

1000 900   

1200 1060   

1400 1210   

1600 1350   
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Level of 

income 

Rs. 

Consumption 

 

Rs. 

MPC MPS 

1000   900   

1200 1060   

1400 1210   

1600 1350   

14. hetCe& jespeieej meblegueve leLee Deuhe jespeieej meblegueve ceW Devlej keâer JÙeeKÙee 
keâerefpeS~ 4 

 Explain the difference between full employment 

and under employment equilibrium.  

15. DelÙeefOekeâ ceeBie leLee keâce ceeBie ceW Devlej yeleeFS~ 4 

 State the difference between deficient demand 

and excess demand.  

16. mejkeâejer yepeš yeveeves kesâ cegKÙe GösMÙe efueefKeS~ 4 

 State the main objectives of Government Budget.  

17. efJeosMeer cegõe kesâ ceeBie kesâ cegKÙe œeesle yeleeFS~ 4 

 Explain the main factors of demand for foreign 

exchange.  
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[ oerIe& Gòejelcekeâ ØeMve ] 

[ Long Answer Type Questions ]  

18. je°êrÙe DeeÙe keâes ceeheves keâer ‘DeeÙe efJeefOe’ keâe mebef#ehle JeCe&ve keâerefpeS~ 7 

 Explain in brief 'Income Method' of measuring 

National Income.   

DeLeJee 

OR 

 efvecve metÛevee kesâ DeeOeej hej JÙeÙe efJeefOe Éeje yeepeej keâercele hej efveJeue 

Iejsuet Glheeo %eele keâerefpeS : 7 

  ceoW                                      ®h eÙes  ( k eâjesÌ [ ceW) 

(i) mekeâue DeÛeue hetBpeer efvecee&Ce 1,000 

(ii) efJeosMeeW mes efveJeue keâejkeâ DeeÙe (–) 200 

(iii) JemlegDeeW leLee mesJeeDeeW keâe efveJeue efveÙee&le (–) 100 

(iv) JÙeefkeäleiele ØeÙeespÙe DeeÙe  3,000 
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(v) JÙeefkeäleiele yeÛele  350 

(vi) efveJeue DeØelÙe#e keâj 200 

(vii) mše@keâ ceW heefjJele&ve 300 

(viii) mLeeÙeer hetBpeer keâe GheYeesie 250 

(ix) mejkeâejer Debeflece GheYeesie JÙeÙe 500 

 Calculate Net domestic product at market price 

from the following data :  

  Items                               Rs. (in Crore) 

(i) Gross  fixed capital formation 1,000 

(ii) Net factor income from abroad  (–) 200 

(iii) Net exports of goods and services  (–) 100 

(iv) Personal disposable income  3,000 

(v) Personal saving  350 

(vi) Net indirect tax  200 

(vii) Change in stock  300 

(viii) Consumption of fixed capital 250 

(ix) Government final consumption 

expenditure  

 

500 
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19. kesâvõerÙe yeQkeâ kesâ cegKÙe keâeÙeeX keâe meb#eshe ceW JeCe&ve keâerefpeS~   7 

 Describe briefly the main functions of Central 

Bank.  

DeLeJee 

OR 

 GheÙegkeäle efÛe$e keâer meneÙelee mes mece«e hetefle& keâer OeejCee keâer JÙeeKÙee 
keâerefpeS~ 7 

 Explain the concept of Aggregate supply using 

an appropriate diagram.   

20. efvecve keâer mebef#ehle JÙeeKÙee keâjW : 3
2

1
 + 3

2

1
 = 7 

 (a) keâj keâer efJeMes<eleeSB 
 (b) mejkeâej keâer hetBpeeriele ØeeefhleÙeeB 
 Explain in brief the following :  

 (a) Characteristics of tax 

 (b) Capital receipts of the government  

DeLeJee 

OR 

 efmLej efJeefveceÙe oj kesâ ueeYe leLee neefveÙeeW keâer JÙeeKÙee keâjW~ 7 

 State the merits and demerits of fixed exchange 

rate.  

SSSS  


